50, will be treated as malpractice.

Important Note : 1. On completing yo(‘ .}ISWCI'S, compulsorily draw diagonal cross lines on the rer’g; .-.'ing blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. Max Marks:80
Note: 1. Answer any Fou quesﬁons Sfrom Q.No. 1 to QWo A
2. Question No. 8 is‘compulsory.
1 a. Define the ‘Previous year’ as pet ,(I ct. . (02 Marks)
b. What do you mean by assessee? Explain the different types of assesses. (06 Marks)
c. The following are the i incomes of Mr. James, a forelgn national for the previous year ended
31.3.2018.
1) Profit from busmess in Ifndla and controlled from U S A, Rs 2,00,000.
i) Profit from sale oﬁgfur@mture in Bangalore but received in Pakistan, Rs 1,00,000.
1i1) Profit from busmess in U.K. controlled fram there but half amount received in India,
Rs 4,50,000 IS ‘the total amount.
1v)- Agriculturali income from Nepal receivi ‘there but later brought to India Rs 1,60,000.
v) Incoméifrom house property in Switzerland, Rs 2,40,000.
vi) Past“‘fmtaxed foreign income brohght into India Rs 2,00 NOOO inthe P.Y.
Compute his total income for the. AY 2017 - 18, ifhe i is«, @) Resident b) Not ordinary
Resident’ ¢) Non-resident. (08 Marks)
2 . What is Standard Rent of Property? 4 g’»‘ R (02 Marks)
. Calculate the exemptlon & taxable House Ren «m, owance from tlw’”fbllowmg particulars
forthe P.Y. 2017 -18. % ‘ sy ' ’ (06 Marks)
Name of Employee Mr. Arun | Mr. Yogesh
City of Employment ' Dharwad| Mumbai
Salary for the year (for calculatlon of HR.A) | 3,00,000 5,00,000
H.R.A.received during P. Ym,)\, . 30,000 55,000
Rent paid during P.Y. 236,000 60,000
Bneﬂy%mam various types 0 ‘provident funds and its tax treatment. (08 Marks)
'3 a What d@you understand by ﬁiegal business? P (02 Marks)
. Explain briefly the tax pmvlsmns of'80DD, 8( DDB and 80E. (06 Marks)

Dr. Shashi is a renowned" ‘medical practwl;g

- .
i

: “Alc for the year endmg 31/3/2018. Calculate his income from profession for A.Y. 2018-19.

gives the following Receipts and Payments

o Receipts 5 Amt Payments Amt

To Balance bid + ~ By rent to clinic 15,000
To Consultir s By Purchase of Professional | 20,000
{ books

To Visiting %ees <« ¢ 20,000 | By Purchase of Medicines 15,000

To Sale of medicine s 90,000 | By Purchase of Motor car 75,000

To Gifts & presents fromeelients 10,000 | By Income tax 3,000

To Interest from Po”s"f office | 12,000 | By Purchase of Equipments 15,000

savings

To Winning fron'i' iottery 1,50,000 | By Gift to wife 5,000

To Dividends: R 10,000 | By Balance C/d 2,64,000
Total 4,12,000 | Total 4,12,000
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i) For official purpose 2/3™ portion of car used. ;
ii) Depreciation is to be charged as follows : On Books* 100% , On Car-15% ,
On surgical equipments 15%. CHh ®

iii) Closing stock of medicine is Rs 4,000. (08 Marks)
a. What do you understand by the term ‘short ter?ﬁ cap1tal asset’? - Wff*g (02 Marks)
b. Explain deduction under section 54F o%;@come Tax Act while computmg income from

capital gain. . (06 Marks)

Mrs. Rakhi acquired a residential %}(guse in January 2001 for RS- 10 00 ,000 and made some
1mproverr'ents by way of acdlt;p;;@ ‘construction to the hous mcumng an expenditure of
Rs 2,00,000 in October 2004, Sf’i‘e sold the property in October 2017 for Rs 90,00,000. She
acquired a residential house in”December 2017 for Rsr 17,98,500 in December 2017.

Compute the capital gain chargeable to tax for the A. )@Mg% 018-19.

[CII for 2000-2001 : IOQ 2904 05:113,2017-18~ 272] (08 Marks)
a. Whatis MAT? 4 02 M?rks)
b. Explain clearly th"‘é m anlng of i) Bond washmg transactions 11) Tax — free securities.
N (06 Marks)
c. Work out the amount of depreciation allowan%e for the A.Y. 2018-19 of a steel factory.
% Assets V. D.V on 1/4/17 | Depreciation
A% [i) Buildings e  1547,380 | 0%
gl ii) Godowns,.«fn ~ 2,15740 | ©. 10 %
iii) Machinery | 35,00,0009: " 15 %
iv) Motor bus 1,50,000] 30%
v) Furniture 25,190 10%
The factory purchased a‘nﬁ installed one new ‘machinery on 31St Q&:tober 2017 @ cost of
Rs 5,00,000. ﬁ%m& "%W& (08 Marks)
. . R &
a. What is ‘Bookags%ﬁi' ofa firm? G ® ) (02 Marks)
b. Explain the proVisions regarding se W%wfﬁd”f losses. . ¢ (06 Marks)
¢. Income and Expenditure Accountof a firm of A, B and.C.for the P.Y. 2017-18 is as unqler
.  Particulars . "% Rs  [Particulars Rs \
M@Xpenses 82,000 | By Audit fees 1,50,000 | |
| To'Depreciation ., ", 22,000 | By Consultation fees | 30,000 ‘
«_| To Remuneration to A= | By Miscellaneous 10,000 | |
P v ‘ wﬁ@gOOO Income
‘%@Ltﬁ / 4() 000
15,000
apltal Alc @20 A p 2 By Lotteries (gross) 10,000
W 10,000
V 15,000
- 20,000
To Donation o 6,000 | By Net loss 30,000
e 2,30,000 2,30,000

Adjustments : A
1) Outof ExpensesRs 15,000 is not deductible.
ii) Allowabledepreciation is Rs 20,000.

iii) It is a firm of Chartered Accountants, where all A, B and C are working partners and

donation glven is to orphanage (local).
a‘i,ﬁ%:*‘
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a. Whatis G.S.T? (02 Marks)
b. What are the benefits of G.S.T? ‘e (06 Marks) -
c. How would a particular transaction of good an§ services be taxed sumgltaneously under

CGST and SGST? Explain with example (08 Marks)

CASE STUDY :

V .
in a company furnishgﬁiiftﬁe following information for

a. Mr. Rakesh employed as a
the year ended 31/3/18. j j
i) Basic salary upto 31/10/17 > Rs 1,00,000 p.m @;?m
i from 1/41/1%— Rs 1,20,000 pm. ~ NG
ii) 40% Basic salary is received as D.A. i.e. not form g part of retirement benefits.
iii) Bonus Rs 1 00;69

vi) 1.9 Ltoearis prov1ded by employer fron’r 1/ 11/17. All expenses are met by employer.

'is using the car for both 6%01a1 and private purpose. Compute taxable salary
Ko % (10 Marks)

ch are taxable under the head

A 5 (06 Marks)
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